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QUESTION 1

How do the Switch Fabric (SF) modules provide bandwidth management across the 1/0O modules?
A. The bandwidth management is handled by the CP modules.

B. SF modules in slots SF1 and SF4 provide bandwidth management across the I/O modules.

C. Bandwidth management is shared across all installed SF modules.

D. The SF module in slot SF1 provides bandwidth management for the I/O modules in slots 1-5, while the SF module in
slot SF4 provides bandwidth management for slots 6-10.

E. The SF module in slot SF1 provides bandwidth management for even numbered slots (2,4,6,8,10), while the SF
module in slot SF4 provides bandwidth management for odd numbered 1/O slots (1,3,5,7,9).

Correct Answer: B

QUESTION 2

Avaya Command Line Interface (ACLI) is an industry standard CLI that can be used to manage the Virtual Services
Platform (VSP) 9000.

From within which CLI context would you enable global routing settings?
A. global configuration

B. router configuration

C. local configuration

D. interface configuration

Correct Answer: B

QUESTION 3

Using Enterprise Device Manager, the technician opens the ERS 8000 switch and sees that there are five ports showing
with an orange light.

What does the orange light indicate?
A. The Ports have no link.

B. The Ports are in standby mode.
C. The Ports are being tested.

D. The Ports are manually disabled.

Correct Answer: B
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QUESTION 4

A customer is mirroring multiple ports to a single monitor port.

What happens if the mirrored traffic exceeds the bandwidth of the monitor port?

A. The traffic will be buffered until there is available bandwidth.

B. The excess traffic will be dropped randomly.

C. The excess traffic will be dropped based upon the mirror priority of the ingress port.
D. The excess traffic will be dropped based upon the port priority of the ingress port.

Correct Answer: B

QUESTION 5

While troubleshooting the VSP 9000 system, a technician notices that one port Link/Activity LED is blinking constantly or
is nearly solid. This could be an indication of mis-configuration or high traffic volume.

Using the CLI, what is the logical first step in troubleshooting this situation?

A. Verify the port configuration parameters on the VSP 9000 system.

B. Verify that there is not a broadcast storm by mirroring the traffic on that port.
C. Verify the port configuration parameters on both ends of the connection.

D. Verify the cable type and connectors on both ends of the connection.

Correct Answer: C
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